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GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGG.- VI"" SEMESTER-EXAMINATION — MAY/JUNE- 2012
Subject code: 361702 Date: 28/05/2012
Subject Name: Industrial Electronics and Control

Time: 10:30 am — 01:00 pm Total Marks: 70

Instructions:

Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic

What do you mean by commutation of SCR? Explain the Class-C
commutation method with the help of circuit diagram.

Define and explain the following terms briefly in connection with SCR.
(1) Latching current (i1) Holding current

Enlist the various types of triggering methods of SCR. Explain any one of
them in detail.
With the help of circuit diagram, explain the two transistor analogy of an
SCR.

OR
Draw the V-I characteristics of a TRIAC and explain its working principle.

Draw and explain the equivalent circuit and V-I characteristics of the UJT in
detail.
Compare power MOSFET and power BJT.

OR
Explain the operation of IGBT with the help of neat structural diagram and
suitable waveforms.
Compare IGBT and power MOSFET.

Describe with a neat circuit diagram the basic principle of a dual converter.
Develop a microprocessor based firing scheme for three phase fully controlled
bridge circuit.

OR
What is cyclo-converter? Explain single phase to single phase cyclo- converter
circuit for bridge configuration.
Classify thyristor inverter? Draw a circuit diagram of a parallel inverter using
two SCRs and explain its working.

With the help of circuit diagram and output voltage waveforms, explain the
principle of operation of a chopper
Explain the various schemes of DC motor speed control

OR
Explain the necessity of energy storage welding. Explain capacitor type energy
storage welding.
Explain the resistance welding cycle. Explain electrical control circuit used in

sequential timer for resistance welding process.
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